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35)  Let fbe the number of trees ina forest at time t in years. If F is decreasing
at a rate given by the equation dF/dt = -2F and if F(0) = 5000, then F(t)=

Ans is 5000e”-2t. Explain.
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Let fbe a differentialble function defined on the closed interval [a,b] and let ¢

35)
be a point in the open interval(a,b) such that
L. f(c)=0
II. £(x) >0 when a<or equal to x <c, and

M. f(x)<0 when c<b< or equal b.

Which is true?
a) F(c)=0
b) F’(c)=0
c) F( ¢) is an absolut maximum value of f on [a,b].
d) F( c) is an absolut minimum value of f on [a,b].
e) F(x) has a point of inflection at x=c.
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24.,“Here I think you mean F is f. From the condition, we know f'(¢)=0 and f(c) is
increasing from a to ¢ and decreasing from c to b. Thus f(c) is the abs. max value of f on
[a,b].

Thus, a.c is true, b,d,e is not true. From those which are not true, you only need to
[-1,1] and c=0.

consider the counter example f(x)=-x"2 at





Differential equations are not my strong suit now.  Please explain in a simple way each step from the integral 1/F dF to the final answer.  Show and tell how you get from step to 

step.  

On problem 35 please answer and explain this in the simplest way you can for me to understand please.  Step by step answer without leaving out details.

Please redo problem below (36 with answers) and explain and reanswer simply for my understanding.  The previous person gave all that math  symbolically and did not help.  If you can reference it and add to it ok, but simply explain better please.
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- Integral with b on top and a on bottom f{x)dx. cba o
/7 Il Integral with b-a on top and 0 on bottom fix+a)dx. ),  L(x+a)e
III.  Integral with b+c on top and a+c on bottom f{(x+c)dx.
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Ans is I and IT only. Explain.
i
/JQ + (%) ob)" 25) If f is continuous for al] X, which have the same value? Explain.
I Integral with b on top and a on bottom f(x)dx.
II. Integral with b-a on top and 0 on bottom f(x+a)dx.
1 III. Integral with b+c on top and a+c on bottom f(x+c)dx.
/ ANswer is I and II only. Tell me why and tell why I is not right.
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definite 11 C= ff (X +c)dx
Ralte o Ii,wlmmtmn. Why A=R?
If we let Y=X+a, then dy=dx and if « «.
. e y=dx anfl if X from (/) to b-a, then y from a to b, we have
B = M-l L. o /
5 ‘_/ (;’.f (x +a)dx = ff (.y)dy = ff(x)dl
l 1 L a
24, R4 ;(5 Since we know that the symbol of the varigp]e ;

. ! ) le in the definjte integral doesn’t change the
5 u - = - n,
intervals. Each {53 gl i fj(y)dy - ff(x)dx

point in the Rj

N But Let z= ~
50 J X+c, then dz=dx and if g
e Z(%)zj C he o I :( from a+c to b+c, then 7 from a+2¢ to b+2c, so
= O [P [ fos (V7 e
== a s ate a+2¢- a '

-QJ\;C





